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1. ES5PAs SGHC~ O EEi- 2T

1.1 B’E

AFERIEF 7o s v YEIEGCIHENME TOEHEO—2& LTERT 25 & ¥
FEE TN RGO v RS LATMS[EE RS, H L o~ BEEEA LD
THE.

HERIEC BT 2BoFH. Bl LEZyAF L0, v 27 L0FfAES &, Fe s
FLURAFENLaTWVE:, TodsaidPrologTHShT0ED, by 7 208
TR E (APPENDIXOBEEICE - T o5 4 L LTHERT L,

FFHEHND v 2 F LATHS(An Assunption-based TMS) OEER U A = T L D FEHIC
2T id[de Kleer 86], [BRE. X E B]FEZBHELTHE L,

1. 2 EBHEHOFEHIZoWT

GHO[ Il 87)itEF T e 5 v VEHETHE, BERTesrsi v FEETEM
7oy LD~ OEHEEL 5 L EGCOIER 7oy s i vV OMRECETES
HHridLEbhE, ARATRESPTEMNIGEREERR 27 AR FE 5]
HERATOTLTFTIEOBELIEY.

BHOBICRLUTOIREBENTHI & L

(1) o2 b3 w @bV TR 5 ARBERL S,

(2) F=F~OT 7R, F—FOERRLTA LV —LEBELTEINLI.

(3) HRodEEEaEIBIINIA S,

CHolE T ey s LdifroleTELATVWALLTLHATELSIETHS,
BEHICS - TR ESPOEIAFT V20 FERBELLTOA » 7V A v bidfic e

T AT P27 P2 TA M —a2FhaF—7ELt. EFTRREOIERDWVT
MEicEEEmMA 2.

(DIE2WTR HETOSELMUNOEE o vy A LT ENETHE, BiE
Q7 LR ARABERHAE IO FREENL oy e~ tEREATVWE,

(DIE20WTR, F—F~OT 2, F—OEREFTNTAE L SESPOEENLE
G AhiEgel_slot, set_slotRGHCHI#HET L.  DEC-10 PrologThhiThTh
HAALDREassert, retract Z B E T+ o Lol T3, CoBEs +75=2 Hi5E
ERThHIISPTHRF— 047 Y =2 b BlE(Rey b)), BE@E(Z e » F) 0324



ERWASHATULEOT FE—MREVWEOETHFEEVLWSISATHEETSE -, FhLE
g T Ll slon, set_slotB B FTOEYTH S,

get_slot(0bi, Slat, ¥, [DatalD]}
:— Data=(0bi, Slots) |

get_slot](Slots, $lot, V), ¥ get_slotliid 7 ¥ -7 bOF2E
gei_slot(0bi, Slot, ¥, [DatalD]) Y Aoy FhroHYdizio,s PO
;= Datay=(0bj. _} | Y EMDHT
get_slot(0bj, Slot, V. D).
get_slot(_. _. V.[I)

1= true | V="undef".

set_slot{0bi, Slot, ¥, [DatalDol, 0}

i~ Data=(0bj,Slots) |
set_slotl(Slots, Slot, ¥, New Sicts), % set slotlid4 7 ¥ b Ao b
D=[(Obj, New_Slots)|DC]. Y EFLv2aey FEIES EAL

set_slot{0bj, Slot,V, [DatalD0]. D)
:= Data¥={0bj.  _} |
D={Datal|D1],
set_slot(0bj, Slot, ¥, D0, D1).
set_slot(0bj, Slot.V, [1.D)
= true | D=[{0b], [{Slot,VI]}].

get_sloti3FBHHDOZ F T — 4% ]2, set_slotid FHAFAEE HFEALEDIDOR b
=BT, A Y-tz 72y P EOF—2XSATVWE, BHE
BOFol s Aldset slot@E I E—FCARDOIoDZ F ) —LA0EHEMASHT
Wh, BIoEANF=s2HNT20RFIBROToeahoLTOF—2HEoNT
{EOEFM2LBRE BESNTL 72 —2Tbbhif B0 Fuea~F—2
OHNEBE LS EATEE,

(DRHCHBOALHEFLVWEWILLETEE, TOToFSLDTATY XL
HeFERT, () (DOFLUARBEICCCO Yoy s AcBERA L, BiEs nfGiC
D7 LRTHEOREEE & deterninisticicMBEE S L5,



2. GHCiz & BATMSD (TR

2.1 BB L A-aTMS O EEE

ESPidA 79 =7 FBRIOEETHN, 7o 3 a3 v FELTZ 3 2BEERT S,
BECELTCRTOEPOTe Y5 L4LETEI FAADESa—LiFlllEEAEED
TEEFLE, BHEOCTo/56dA 7527 2AFI—LEHaF—5 &L
TEH - BFET LA T Y2 FEREELLTOZERERL TV L,
Lt TETRRdFssaL@T gk - ERT 27— 70Hcs 70540
TV a— BT EOLO TR L,

{1) basic¥ 3 =

£ 3ATHVHEAENLEFEOEN
{2) nodes 3 2

J=F AT Y P OERRUER
{3) justification® 3 2

Ehffd A7 rOERRUER
{4) assumption? 3 A

R4+ 7522 FOERBECER
{5) environment? 5 2

BEA7 =7 FOdEREUER
(B} nogood® 7R

FE+TLI2BRREOEE
LT} interfaces 3 R

T (MRS ST AT E DA v 5 — 7 = — RO
{8) init® 5 =2

ATMS 2 E DY
{(9) atms® 3 %

T (HEBRE) AT SA 2650, £iT
(10) printZ 3 =

ATMSPER R IR O B
{11) solver® 7 =&

ATMS & R W7o T B ) AR 8, B

i) F=FHE (3202 o 5 PR
TMOESP7T o 7S LDRAT V27 PRAM I —LEHNDIF—FLLTEREL &7

et roEoRBE(Zo .y FIRBEASYTEELSLICERL -,

(1) node #35 =

5220k



(2}

1 | contra_node FEETT/ —F-d 722208+ 5,
i

2 | nodes HEREASA S —F A2y A RET S,
3 | node_gueue sNLEHRERES, — FRIZEET S,

4 | counter B w27 2 T P OEEBEEE S

{1 Y25 w2 A8y b

1 | index FEScEmRsnfd T Y20 it T 3,

2 | datum = —4 (HEBRG)BEALT—7 28+ 5.

3 | status £/ —FBEELAEZAELERY. (N or OUT)
4 | label £/ - FOFS~AZEET S,

5 | e justs A/ — FER(EOFTEEES 2,

E | a_justs /- FEFESEBRtrE=0ET 5,

7 | assumption A= FifdudzEms+r 72 =2 r2EBT 2,

justification # 3 =

P e S A - S

I | justifications | EpliFAEEMNT - 4 »2 5 w2 20T 25,

2 | counter R vaprvrn-FF Vs rOMEidRyL,

SR A A S R = I

1 | index fEBicEfkahi-d 7527 FET S,

2 | type ABHAHOF 4 (2 =FHETE) 2ICET 2,

3 | consequence T T ©consequence® ICl 4+ 5,

4 | antecedents EE BT Cantecedenta T ICE T 5,




(1) assuaption # 5 R
1 HBFE ALy k
|1 | assumptions MR Aassunption s 4 ¥ A S v A RIDET 3,
2 | counter ElAd 25 r2 «FF 20 POEEREET S,
|
A4 XA F WA« ATy b
1 index FEHIZER SN P27 FhilE+F 5,
2 | node FRmOMNEEE - FEidE+T 2.
3 | environments EERREFSUCRESILET A,
{4) environmsnt & 3 =

EA A0 4 b

L | empty_env EOMBEA T V27 L E0ET 5,
t I | env_table Ml Ef v Forit LT BEE2F— 7R
TictEd 5.
3 | environments | AN Senvironment - ¥ ¥ Y 2 7 F R EHET 5.
{ | indices env_table@{ ¥ 7+ # A £ 23 5.
5 | counter A 257247427 rBEiEETS,
A XA F XA Ty b
1 | index FEHCERENAA 7TV =7 FICIET E,
? | ass_size FREVEORFEOMELET I,
i | assumptions ARBEFORKEZERET 2,
4 | nodes AREE S <nitHo /s - FERET S,
§ | contradictory | ZRWUFET I hELERT 7 73 Y EIERT 2,




(5) nogood # 3 &

FEA Aoy b

1 | nogood_table Rt vFo 22 LT, FET2MEE
F=7AEATEET 2.

2 | indices nogood_table®D < »F 5 7 A EHE+ L.

¥nogood FRICERA YRS X o F T I8 FEN N
Y LA OF S AN F-FELTOF T 927 P REELE L,

2.3 BEva—-arHOFEHEE (GBE)
B2~ NELTOEI SACERENALTECOERLGOELTIRFT. chobTTD

ESPY o3 4D bm& (basie? 5 RLAVELAERLTH 2, ATHSOAS IR (1)
Catesy 3 A & (1) Dprinty 3 AHTT.

{1} node # 352

i E
1 1make_nﬂds =K dT V0 P RERT S,
¢ | node_updating F=F(o~<n)eWHtT i,
§ | label_updating FRAEEFT
(node_updating GEEQSHI A N 3)

{2) justification # 3 R

L&

1 | make_justification BEi (justification) F 7 ¥ = 27 ¢
B4kt i,

2 | get_envs_from_just HhEffhoBiEERH L,

(3) assumption # 5 R




R
K=

1 | make assumption (a4 7 =& FPEERKRT L.

. get_env_from_asss (Rigds SIRE RS L.

{§) environment ¥ 5 A

g

| | make_gnvironment WA+ v PEERT L,

2 | subsumed_chsck REHEEAEIRBECSEFNE LTSS
g A,

3 | env_subsumed_p OIS OB E &8 5T b i
T 5a

i | get_new_envs W ohoBEhocllaSheiHLL
WML ek T 5,

5 | union_envs IOREESRTE.

& | push_env WHCEEEEBLNLCHL WREEER

' + 5,

T | push_env_tahle BEiEZenv_tableic BT 5,

§ | lookup_env FEMBSET T T,

8 | env_contradictory_p BEYFRTEPENEF2 07T 5,

10 | remeve_env_from_labels | B/ —FoS<nhikiBETR{.

{8) nogood # 3 &

miE
1 | nogood_updating nogood = EEFT 5,
? | push_nogood_table FET IBEE 2 nogood_table~B§ET 5,

(8) interface # 5 =



i

1 | lookup_assumption Hd/-FrisntaEmidahid, =0
Emod 7T o bkt s,

? | assume_node FL/ - FRERTEEMREY TS,

1 | premise_node HE /= Fhiprenise TEHEB I EEHTHES
T he

4 | nogood_nodes FET 2/ - VOHALEELEEET S,

(T} solver & 3 A&

g
1 | breadth_search HEESRTEERSL 3,
¢ | depth_search MAFETHEETRD D,
(8) init 7352
b
1 | init ATMSHERT 27— ¥ =ML+ 5,

(9} print # 5=

Axg 7TV —DlEatns/licS5A 54 o2 -« 2 b Y —athizEprint/1(print
RS LUTOoREZIMETAMENAZC LU ToREERA 4.

C/n" &0 silER *oEfEvAalEZiRs Lv LMEES s lloboTs s o
LELT)

Aoyd—
1 status/! BET L, — FORE(IN or OUT) R ERT 3o
2 statuses 27— FORE(IN or WT)EHFT 3,
3 node/1 g+ s/ —FoERo ., VEERTT I,

_a_



{10}

4 nodes Pl VFOEIO ., MEERT LTI,
5 just/1 EETEFEETIOERAR y MEEEHRTT L,
B justs EHE{HOE Ay FHERZETRT S,
) ass/1 ErETEaRFEOERDy PEETELT S, ;i
B a558 ;ﬁﬁ%ﬁ&@%xﬂw FEEETY 5.
g env/| v omBoERC » TR T 5,
L envs SRECHEZ o FHEHETT 4.
11| node_justs fBET L/ - FOREHIEERT .
12 | env_with_index/l | §ET 2 RS EHBE2 AT+ 2,
13| env_datun/] T MBS RBEOF -2 ERT S,
14 | env_datums LHRFECMLTERENESREoF—-2%
FRT e
15 table environment ¥ — 7 A Enogood F— 7L ORE
FART Do
16 context/l BET 2/ —FAS<LEFKIBE, F08H
ffEtiEs,
bagic 7 5 &
iR
1 | get_slot EEA 722 r0iiER oy FOES
B3,
¢ | set_slot EEAF 24 FrOETEze » FiCii %
e P b,
3 | add_slot BEA7 V22 roiiEzey FicdEE
iEmt s,
4 | new (SELAEEBRiOf vy vz T 0
FEERRT D,

-



5 | class_ohject REA T =0 I ETFZADA ¥ 2 %
YATELHLTEHEEREE,
6 | add with index EEA T v 27 POIBERTy b »F
2 7 REFTTHEEBRMT 5,
7 | get_with_index IBEFT¥=2 FOIEER T » FICHETE
drFosrinFoilizifa,
8 | remove_with_index HEA T P27 FPOIFERA @ o bizisE
AF, 7 2% WlE2HBY 3,
o | inerl EEF7 V=2 DT FOEE)
HMihae s,
10 | length BTV roE&ERHL,
11| append 2@ Y A b @appendEEH D,
12 | member EEERMEBT YA AT WahL
13 | add 0RO ERS D,
14| delete EEEETIETIR P SlERT 3,
15 | ageending_ordered. MEBRERIGB v —r&at0 2 Fic
pushnew BNt &
16 | mapcan DA P EBERLET VA LIOLEENS
TOEEFETMOHBLY R FEFE,
17| rest EEVZLOLIEFESRLBOY 2 £
Rz,
18 | ordered_insert EEEREZindex® A e » FEQRIF &
Y=FPENLUIFCIEDNT B,
19 | gensym FLOLT FAEERTE,
20 | prolog prolog I— w2 ET+ 5,

(11} atms # 53

- HERRE) FATMIEEAZ YT 6S0BT (B Eates/11c54 2 = &

— 10—



OTELA v E— ¥ A P =—LOEROBM RN TOENTH S,

f b t‘.!—'.-*F

1 ! premisze/l g7 =—72EHE¥T &,

¢ | assume/l iy =7 EEH=ET 3.

31 justify/? Elgafrir ( SBigl =R, BislH-REo
N2k IEEET 5.

{4 | nogond/1 FETEF—70ll&5E(VALIEEE
R

5 | datum_to_node/? HEETEF—2 (gL, —-F
AT Y2y b (EIS|IE) 2B,

§ | get_solution/3 REETEASYORE (FEig ) 2k s,
(B3| $=A L2+ FTHES (VR )%
BERETAEVRF, BI5|H=1Fu00s (a7

{depth) 2 4B (breadth))

T | status/2 BETEF — 7 (B1518) oWME(IN or OUT)
TR D,
& | implied p/3 feET 27— 7 (B[ M) it + 2R

(Biif @z hahird 2,

8 | consistency p/3 BET2F— 7 (BISIE)BEET I RIE
(FRf) EFBLLVAYE T 2,

10 | get_justifications/I1 |{EETAF—F (1S oBETIHE
o R

Il ] get_assumption/2 HETAF—7 (BB cHbT 3 HEES
s,

12| init/0 ATHSE ML S 5. (init' OFICE -7
Ayt—SOMRREHRENG)

P EICEA 2 —FHELAE I EHNTEEA -2 L L Torint/18E2((0ER),

3. HATHSOERI F3 &



FATMS i2Prolog TA ¥ Z U A v FERTOVES v ¥ & o 2 R OB LT T (APPENDIXD
BEERE) Cl-THOTe S AL L THIEME I & HTESL,

1 ATHS 74 A—% (L1o&r s zicwtin)

{1} basic.prl (2} node. prl {3} justif. prl
{4) assump.prl {3} enviro.prl {6} nogood. prl
{7y interf. prl {8} init.prl (9} atms.prl
{10} print.prl {11) solver. prl {12} atms. com

5.2 ATMS i E BIFFIE
4 Prolegm Fed s AL LTES

Prologti 7' e 73 L & L TIRDEC-10 Prolog, Quintus Prolog ETE O F ETETE
BLIENTEL,

(1) 27 »F- 2774 Latns. conkro— FT 3,
(ifhiZconsult( atme. con’ ) = ET)

(1) ARsNow v Fed oot thin LTFoRELRGF+ 2,
¢ - ATS@ a7 ({(D-(N0FeFfsa)ta— F
p - printdb—F {0} Fedss)dto-—F
s —— MERER((INDTorss)zo=F

B. GHCO 7o ¥ 56k TET

MToF@ES 2mLITTA L, DEC-10 Prolog t OGHCHMBZ[S )k 871 Tit FDAD
(D (D) rE—oFGEscEnrt Lifa o thTE S,

(0} APPENDIXDBIZHE - T()-(11)DE7 r 1 LONEELEL, 71 15 %
"¥EE.prl’ ==>  C#EE ghe'
0] il ol
(2= FF 2R FE—0F s bV CEWHO 7 r A AHEE LA

BMAChTLESOTHE)

08 ATHSO 2 —H o of v —F 2 — 3

12 —



o e @iliEitatns/I1THEN, G HicA v 2= A+ —LELTHESESEL
H(asniEEiTs 3oy E4ME),

ATMSHIMNE TER LTV AMEERIncl}, Ao E=U 2 F U= Aitprini s
Szhd v (print@ SOESIL, 10 (1) 2 5HE) .
| AT R 7o s

(BRE. HE Bl mahafElidb T a7y s a0ETFHEHTCRT,
{DEC-10 Proleg)

|

WD LU b e, ditBHE, HB)ERD N, ¥ L BShEOEEIEL
BER-TROIAL, (BN OBOREL HHE 257

gl =R g

:— public examplel/ 3.
exanmleil: (Strategy, Soluticns,MsgS_T)
L e, ! K3
MsgS= [assmreta{red}},assmre:a{hlua}},assune{a{gra&nj},
assmne{h{rad}},assmm(h{blua}j,assme{b{grmnj},
assume(c(red)),assume(c(blue)),assume(c(green)},
assume({d(red)),assume(d(blue)),assume(d{green)),
pogood( [a(red) b({red)]),nogood( [a{blue),b(blue}]),
nogoad( (a(green) ,b{green)] ), nogood( [a(red),c(red)]),
negood( [a{blue),c(blue)] ), nogood( [a(green) ,a(green)]),
nogood( [b{red) ,c(red)]),nogood( [b{blue),c(blue)] ],
negeod ( [b(green) ,c(green)]),nogood( [b(red),d(red)]),
nogoed( [b(blue),d(blue)] ), nogood [blgreen) ,d(gresn}]),
nogocd( [c(red) ,d(red)]), nogocd( [c(blue) ,d(blue}]),
nogood ( [c(green) ,d(green)]),
get_solution(Strategy,

({a(red),a({blue) a(green)], (b(red), b(blue),b({green)],
[c(red),c(blue),c(green)], [d(red),d(blue),d{green)]]

Solutions 5 T]
atms( [init|Msgs]y. ) 11591,



T

| »- examplel(depth,Envs,[]).
Envs = [env6d,env6l,env33, env4s, envi9, envii]

es
= examplel{depth,[Euv|Env5],[print{euq_ﬂatumiEnvj}]},

ASSWMMPTICON-DATUM in ENV

environment : envhE
contradictory : []
datum : al(green)
datim : biblus}
datum : c{red)
datim : d{gres=n)

Env = enviE,
Envs = [env62,env3],env48,envif, envil]
25
T ?= examplel (breadth,Envs, [1).
Envs = [[envE3], [enveT], [envE4], [env59], [envSE], [env54]]

L
?= examplel(breadth, [[Env] |[Envs], [print(env_datum(Eav))]).

ASSUMPTION-DATUM in ENV

environment ; enved
contradictory : []

datum ; a(green)
datum : b{blue)
datum : of{red)
datum : d{green)

Env = anvid,
Envs = [[envE7], [enved], [envS9], [envSh], [anvS4] ]

—14 —
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FHEORSESATT & - LICOTHRSHAE BHE—FRUSTCHMAHEZ L
ICOTSRSHIREDO B RR B L ¥,

[E=E--qi'Y
[de Kleer BE] de Kleer,J.. 4n Assumption-based TMS,
Artificial Intelligernce 28 (1886) 127-162.

[ERE, # & p8] ik £ F, ESPICX ZATMS -Z18R-,
[COT Tech. Meacrandom TM-467.

(Nl 871 H)ifh, WHREESEHCE £ DITA,
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e 54l Rk (Prolog version)

3% (1) basic.prl

= mode geb slot{+,+,—,+),
get_slotiObi,Slot,V, [ (Cbj,5lots) ID]) :—
trua, !,
get_slot(Slots,Slot,V).
get_slot{0bj,Slot,V, [Da.ta.iD] Yy o=
% Data\=(0Obi,_),
true,!,
get_slot{Cb},5let,V,D).
get slot{_,_.v,.[1}
:= true,! V="undef',

= mode seb_slot(+,+,+,+,-3.
set_slot(obj,Slot,V, [(Ob],Slots) |DO],D) :-
true, b,
set_slot(Slots,Slot,V,New Slots),
D=[(Cbj,New_Slots) Int:11 .
set_slot(0bj,Slot,V, [Data|D0],D) :-—
8% Data\=={Cbj,_),
true, !,
D=[Data|Dl],
set_slot(obj,Slot,v,D0,D1).
set_slot({Cbj,slet,v,[],D)
= true, !, D=[{0b], [{Slct,Vi])].

:— mode new(+,+,-].
new(0Obj,D0,D) :- true,!,D=[(cbi,(])|DO].

i— mode class _object(+,+,-).
class_object(0bj,objl,Result)
:— proleg(atom{Objl)),!,
proleg(name(Cbj ,0biL)),
prolog(name(Cbjl,objlLy ),
class_obi(0bjL,CbjlL,Result).

-l l'l'I:ldE aﬂd_SJ.th*,'Ff‘l';'l',‘:l #
add_slot(0bi,5lot,Valuas,Dd,D)
i— krue, |,
get_slot({Cbj,S5lot,Values D0},
set_slot(0bj,S5leot, [Valueivhlues] LD0,Dy.

= mode ﬂ.ﬂd_ﬁﬂl_indﬂ{ + r+.r+.r*r_:| .
add_with_index{Obij,Slet, Index,Value,DO,D)
= true, !,
get_slot{Chj,Slot,Values,DO),
add_with_index(Index,Value,Values,New Values),
set_slot(Cbj,Slot,New Values,DO,D).

i= mode get_with_index({+,+,+,—,+).
get_with index{0bj,Slot, Index,Value,D}

get_slntiﬂbj (Slot,Values Dy,
get_with index(Index,Value,Values),

= mode :mva._wiﬂ't_index{+,+,+,-h+,‘-}l -
remove_with_index(Obj,Slot, Index,vValue,D0,D)
= true,!,
get_slot(Obj,Slot,Values,D0Y,
remove_with_index(Index,Value,Values, New Values),
set_slot({CObj,S5lot,values,Dd,D).

i= mode inci(+,+,+,=),
incf({0bj,5lot,D0,D) —16 -
= true, !,



get sleot(0bj,s5lot,N,D0),
add(n,1,N1},
set_slot(0bj,slot,N1,D0,D).

i= mode lengthi+,-).
length{[].L}y :— true,!,L=0,
length{ [H|{T] ,1)
= krus, !,
length(T,L1},add(Ll,1,L).

:— mode append(+,+,-).
append([],B,C) := true,!,C=B.
append( {H|T],B,C)
:= true, !, append(T,B,Cl},C=[H|C1].

= mode member(+,+,=),
member{_ ,[],Result) :— true,!,Result=no.
membexr(A, [A] ],Besult) :— true,! (Result=vas,
member(A, [ |B] ,Result)

= true, ! member(A,B,Resulty,

= mode add(+,+,-3.

add({&,B,C)
:= proleg(integer(A)),prolog(integer(B)),!,
C is A + B,

= mode delete(+,+,-),
delete{_,[],C) :— true,!,C={].
delete(h, [A|B],C} := true,!,C=B.
delete(a, [D|B],C)

:= true,!,delete(a,B,Ccl),c-[D|c1].

:= mode ascending_ordered_pushnew(+,+,-}.
ascending ordered pushnew(A,B,C)

:= true,l!l,

mamber(a,B,Result),

ascending ordered pushnew(Result,A,B,C).

i~ mode mapcan(+,=).
mapean{ [],L) :— trus,!,I=[].
mapcan( (11 |L2],L3)

i~ true, ! ,mapcan(Ll,L2,L3).

= mode rest(+,+,-).

rest{_,[],C) = true,!,C=[].

rest{A, [A|B],C) :— true,!,C=B,
rest(a, [_|B],C) := true,!,rest(A,B,C).

:— mode ardereﬁ_insertth‘h—:"'}a
erdered insert(Obj,[],L2,_)
= true, ! L2=[0bj].
ordered_insert(0bj,Ll,L2,D)
i= true, !,
get_slot(0Obj,index,V,D},
ordered insert(Cbj,V,L1,L2,D).

= mode prolog(+).
prolog(Geal) :— Goal,!.

1= mode gensym(+,+,-).

gensym(a,B,C)
:= proleg(integer(B)),!,
prolog(oame(A,AL) ) ,prolog{name(B,BL)),
append (AL,BL,CL) ,prolog{name(C,CL)) .
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43% local predicates

:= mode get_slob{+,+,=).
get_slot{[(Slot,V1y{_],5lot,V) :— true,!, V=y1,
get_slot({[Slotl|slots],Slot, V) -
3%  Slotl\~= (Slot, )},

true, !,

get_slot(S5lots,Slot, V).
get_slot{[],_,V) :- true,!, V="und=f'.

;= mode set_slot{+.+,+,-).
set_slot{[({Slot,_)|Slots],Slet,V,New Slots) :-

true,!, New Slots=[{5lot,V)|Slots].
set_slot([Slotl[5lots],Slot,V,New Slots) :—
3%  Slotl\==({5lot,_ ),

true, !,

New Slots=[Slotl|New Slot=1],

set slct(Slots,Slot,V,New Slotsly.
set_slot({[],S5lok,V, New Slot)y -

true, ! New Slot={({Slot,V3].

:— mode ascending_ordered_pushnew(+,+,+,-),
ascending_ordered_pushnew{yes, ,B,C) :— true,!,C=B.
ascending ordered_pushnew(no,,B,C)

= true,!,

ascending_ordered_pushnew subl{A.B,C).

:— mode ascending_ordered_pushnew subl(+,+,-),
ascending ordered pushnew subl(A,[],C) :— true,!,C=[A].
ascending ordered_pushnew subl{A,[B/Ll],1L)

:= A < B,!,L2=[A,B|L1].
ascending ordered_pushnew subl(a, [B|L1],L2)

:= B »= B,I!,

L2={8|L3],ascending ordered_pushnew subl(A,Ll1,L3}.

= mode mapean(+,+,-=).
magpeand [],12,13)

i~ true, ! mapcan{lz,L3).
mapcan( [H{T] ,L2, L3}

:~ true,!,L3=(H|L] ,mapean{T,L2,L).

:— mode ordered_insert(+,+,+,-,+3.
ordered_insert(cbil,_,[].L2, )

:= true, !, L2=[Chjl].
ordered_insert(objl,Vl, (0bj2|Ll],L2,D)

= true,!,

get_slot{Cbj2, index,V2,Dy,

ordered_insert(Vl,V2,0bjl,0bj2,Ll,L2,D).

= mode ordered ingert(+,+, %, & 4+, =, 4},
ordered_insert(vl,vi,0bjl,0bj2,L1,12,I)
- V1 € v2,1,12=[objl,obj2]L1].
ordered_insert(vl,v2,0bjl,0bj2,Ll,L2,D)
= VI = V2,1, :

L2=[cbj2|L],
ordered insert(Cbjl,vl,Ll,L,.D).

i— mode clas oby(+,+,-).
eclass_obj([],_,Result)

:= true, !, Result=vyes,
class_obj( [C|L], [c|Ll],Result)

:— true,!,class _obj(L,LLl,Result).
class_obj(_,_,Result)

:— true,!,Result=no.

= mode add_with_index(+,+,+,=).



add with index(I,Vv,[],NIV) :-—
tr'U:Er !:NIV-[(I; [V] :Ill -
add_with_index(I,V,[(I,Vs)|IVs],NIVs) :~
true, ! ,NIVs=[(I, [V|vs])|1vs].
add_with index(I,V,[IV|IVs] ,NIVs) :-
5% IWVN=(I,_},
true, !,
NIVs=[IV|NIVsl],add_with index(I,Vv,IVs,NIVsl}).

= mode get with index(+,-,+).
get with index{ ,V,[]) := true,!,V=[].
get_with indese(T, Vv, [(I,V1)]| 1) ==
true, !, V=V1. )
get_with iodex(I,V,[IV|IVs]) :—
3 IN=(I,_),
true,!,get with index(I,V,IVs).

= mede remove_with indes(+,+,.+,-).

remove with index{_,_ ,[],NIV) := true,! NIV=[].
remove_with_index(I,V,[(I,Vs)|IVs],NIVs) :-
true, !,

delete(V,Vs,NVs) ,NIVs=[(I,NVs) |IVs].
remove with_index(I,V, [IV|IVs] ,NIVs) :-
B IV\=(I,_ ).

true, !,

NIVs=[IV|NIVsl),

remove with_index(I,V,IVs,NIVsl).

%% (2) node.prl

:— mode make node(+,=,+,=).

make node(Datum,Nede,DO,D)
= true, |,
incf{node,counter,DO,DLy,
get_slot(node,counter,Count,Dl),
gensym(node, Count, Node ) ,
DEWIMEJD]-;DE};
make_ncde subl (Datum,Node,Count,D2,D).

:= mode pode updating(+,—,+,-).

oode updating({Node,Qui,DJ,D)
1= true,!,
get_slot(node,node_queue,Node_Queue,D0),
Dueue=[Node | Node_Queua] ,
pode_updating subl(Queue,Qul,DO,D).

:= mode label updating(+,—,+,-).

label updating(dode,Result,D0,D)
= true,!,
get_slot(Node,label,Labell, i),
get_slot(eavirooment,empty env,Labell, D0y,
label updating_subl(Labell,Label2,Node,Result,D0,Dj.

%1% local predicates

= mode make_node_subl{+,+,+,+,-).
make_node_subl(Datum,Node,Count,D0,D)
= mﬂp ! ]
SEt_Elﬂt: M-e ’ iﬂﬂﬂ:ﬂount,nﬂ ;Dl} r
set_slot(Node,datum,Datum,D1,D23y,
set_slot(Mode,status,in,D2,D3),
set_slot(Node,label, [],D3,D4),



set_slob(Node,c_justs, [],D4,D5),
set_slot(Node,a_justs, [],DS,D4),
set_slot(Node,assumption, [],D8,D7),
add_slot(node,nodes, Node,D7,D).

r= mode node_updating subl(+,=,+,=).
node_updating_subl([],QuL,D0,D)

1= true, !, Qul~=3,D0=D,
node_updating_subl{ {Nede|Q},0QuL,D0,D)

Han t_T_‘L[E, ! ]

lakel updating(Mode,Res,D0,D13,

nede_updating sub2({Res,Nede,Q,N Q,DL,D2),

node_updating subl (M Q,Qull,D2,Dy,

add (QulLl,l,Qul).

:= mode node updating subB2{+,+,+,—-,+,-).

node updating sub2(no, ,Q,N_Q,D0,D)
:= true, !, M_Q=0,D0=D,

node_updating _subld(ves,Node,Q,N_0,D0,D)
= true, !,
get_slot(Mode,a_justs,Justs,D0),
get_slot(oocde,contra_node,Contra,D0},
node _updating subi(Justs,Nodes,Contra,D0,D),
append (Q,Nodes N Q).

:= mode node_updating subd(+,=,+,+,-).
node updating sub3((],Nodes,_,D0,D)
1= true, !, MNodes 1[] DC'-D,
node updating_sub3( [Jus|Justs],Nodes,Contra,DO,D)
— true,!,
gat_slot{Jus, consequence,Conse, DY,
node updating subd4{Jus,Conse,Contra,Nodes,Nedesl,DO,D1),
node_updating_ 5ub3{Ju.st,.,Nodesl Contra,D1,D).

:— mode node updating subd(+,+,+,2,2,.+,-).
node_updating subd (Jus,Conse,Contra,Nodes, Nodesl ,DO,D)
1= Conse=Contra,!,
Nedes=Nodesl,
nogood_updating{Jus,D0,D).
oode updating sub4(_ ,Conse,Contra,Nodes,Nodesl,D0,D)
= Conseh\==Contra, !,
Nodes=[Conse | Nodesl] ,DO=D.

:— mode label updating subl(+,+,+,—,+,-).
label updating subl{Lah-&ll Label2, Node +Result,D0,D)
:= Labell=[Labell],!,
get_slot{Labell,nodes,Nodes,DO),
rest (Node ,Nodes ,Mem) ,
label updating_subl(Label,Node,Mem,Result,D0,D).
lakel updat:mg_suhl{Labell Labell, Node,Result, DO Dj
:— Labell‘\==[Label2],!,
label _updating subl(Node,Result,D0,D).

:— mode labal updating sub2(+,+,+,—,.+,-).
label updating subl(Label,Node,Membear,Result,D0,D)
Han Hmber"l:l hy
Result=no,
add_slot(Label,nodes,Node,D0,D).
label updating subl{_ ,Node, Member,Result,D0,D)
— Memberis=[] |,
label updating sub3(Mode,Result,D0,D).

= mode label updating_sub3{+,=,+,=}.

label wpdating subd(Node,Result,DO,D)
= true,!,



get_slot(Mode,c justs,Justs, D),
label updating sub4(Justs, (], Nenvs,DO,DLl),
label updating sub5(Node,Nenvs ,Result , DL,D).

:— mode label updating subd{+,+,—,+,-).

lakbel updating sub4([],Envs,Nenvs,D0,D}
= true, !, Neavs=Eavs,D0=D.

label updating sub4( [Jus|Justs] ,Oenvs,Neovs,D0,D)
i= true,!,
get_envs_from_just(Jus,Envs DO, DL},
label updating subé6(Envs,0envs,Wenvsl,Dl,D2),
label updating sub4(Justs, Nenvsl,Neovs,D2,D).

:= mode label updating subb(+,+,—,4+,~).
label _updating sub&([] ,Cenvs,Nenvs,D0,D)
= true, !, Nenvs=Oenvs,DO=D.
label updating sub6( [Penv|Envs],Cenvs,Nenvs,DO,D)
= true,!,
subsumed_check (Ceavs, Penv,Res ,D0),
label updating sub¥(Hes,Penv,Envs,Cenvs,MNenvs,D0,D).

= mode label updating sub7(+.+,+,+,=,+,=).
label updating sub7(yes, ,Envs,Cenvs,Nenvs,DO,In
= true,!,
label updating subf(Envs,Cenvs, Nenvs, DD, D).
Label _updating sub?({no,Penv,Enovs,Oenvs,Nenvs,D0,D)
Ha tl'l.Le; ! Kl
env_contradictory p{Penv,Res,D0,D1y,
label updating subf(Res,Penv,Envs,Cenvs,Nenvs,D1,D).

:= mode label updating sub8(+,+,+,4,-,4,-).
label updating subB{yes, ,Envs,Cenwvs,Menvs,D0,D)
Ha trl..liﬂ, ! ]
label updating subé(Envs,lenvs,Nenvs, DO, DY.
lapel _updating subB({no,Penv,Envs,Oenvs,Nenvs,D0,D)
= true,!,
label updating sub%(Cenvs,Penv, MNenvsl,D0),
ordered_insert(Penv,Nenvsl,MNenvs2, D0),
labe]l updating subb(Envs,NenvsZ,Neovs,DO,D).

:= mode label updating sub9(+,+,=,+).
label_updating subS([],_,Nenvs,_)

:— true, !, Nenvs=[],
label_updating sub3( [Cenv|Cenvs],Penv,Nenvs,D)

— true, !,

env_subsumed p{Cenv,Penv,Res,D),

label updating sublO(Res,Penv,0env,Cenvs,Nenvs,D).

:= mode label updating sublO(+,+,+,4+,—,4).
label updating sublD(yes, Penv,_,Oenvs Nenvs,D)
:= trus, |,
label updating sub®(Oeavs,Penv,Neavs,D).
label _updating_ subkl0{no,Penv,0env,Oenvs,Neavs,D)
:— true,!,
Nenvs=[Oenv|Nenvsl],
label updating sub9%(Cenvs,Penv,Neovsl,D).

:— made label updating subS({+,+,—,+,~).
label updating subS|{Node,Nenvs,Result,D0,D)
:= trua,!,
get_slot(Node,label Label,D0),
label wpdating subll{Ncde,Label,Nenvs, Result,Dd,D).

:= mode label updating_subll(+,+,+,—,+,-).

label updating_subll{_,Label, Nenvs, Result,D0,D)
.= Nenvs=Label,!,Result=no,D0=D,



label_updating;suhll(Node,Label,N:nvs,Result,DD,D}
:= Nenvs\==Label,!,
Result=yes,
set_slot(Nede,label,Nenvs,DO,D1),
label_updating_sublz{Node,Lahel,Nequ,Dl,Dzj,
labelﬂupdatiag_ﬁuELEande,Nenvs,Label,DE,DH},
label updating_sublé4(Node,Nenvs,D3,D).

— mode la.bel_updating_subl?{+,+,+,+,-]| .
label updating subl2(_,[],_,D0,D)
A tI'I..I.Ep.’; DO=D.
label updating subl2(Node, [Oenv|Label],Nenvs,D0,D)
— tme, !,
:.@.mber{GEEV,NEnUS,RES]I ;
label_updatingnsubLE(Res,hbde,Oenv,Label,Nenvs,DG,D}.

i— mode label updating_sublS(+,+,+,+,+,+,-},
label_updating_subLE[yes,Node,ﬂenv,Label,Nenvs,Dﬂ,n}
— true,t,
label_updating“Sublz{Hbde,Label,Nenvs,DU,Dj.
label_ppdatinq_suhlﬁcna,Nodeioenv,Lahel,Nequ,Dﬂ,D}
= frue, !,
get_slot(Cenv,nodes,Nodes,DOY,
set_slot(Oenv,nodes,Modesl,DO,DL),
delete(Node, Nodes, Nodesly,
label updating subl2(Node,label,Nenvs DL, D).

= mode label updating subli(+,+,+,+,-).
label updating subl3(_,[], ,D0,D}
= 1.'..!".1&;!,- DD-D.
label updating subl3(Node, [Neav|Nenvs],Label,DO,D)
= true, !,
member{Nenv, Label ,Res),
lahel_ppdating_sublﬁ{Res,Node,Nenv,NEnvs,LabEI,DD,D},

= mede lab&l_upﬂatiﬂg_sublﬁ{+,+,+,+,+,+;-],
label_updating_sublﬁ{yes,che,_,NGnvs,Label,Dﬂ,D}
== e, !,
1abel_updating_suh13{Nade;Nenvs,Lahel,Dﬂ;Dj.
label updating sublf¢no,Mode, Nenv,Nenvs,Label,D0,D)
= true, !,
add_slot(Menv,nedes,Nede,DO,D1),
label_updating_ﬁuhIE{che,Nenvs,Lahel,Dl,Dj+

:= mode label updating subl4(+,+,+,-).
1abel_updating_5uh14{Hode,Neavs,Dﬁ,D]

= Nenvs-[],!,set_slct{ﬂnde,status,out,nﬂ,D}.
label updating subl4(Node,Neavs,DO,D)

1= Nenvs\==[],!,set_slot{Node, status, in,D0,D).

8% (3) justif.prl

Hin Tl'ﬂ'de me_juﬁtificatiﬂn{+;+i+,¢";+g-}.

make justification(Type,Conseq,Antecs,Jus,D0,D)
= true,!,
inef{justification,counter,D0,Dl),
get_slot(justification,counter,Count,Dl),
gensym( jus,Count,Jus}),
oew(Jus,DL,D2),
mak&_just_;ubltType,CﬂnSEq;Antecs,Jus,ﬂnunt,Di,D3j,
make_just sub2{Antecs,Conseq,Jus,D3, D).
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— mode get_eavs_from just(+,—,+,-).

get_envs_from jusi{Jus,Bovs, DO, DY
— true; |,
get_sleot(Jus,antecedents,Antecs,D0},
get_slot|environment, empty_env,Eenv,D0),
get_enwvs_subl(Antecs,lasss, Ieavs,DO),
get._env_from_asss(Iasss,Eenv,Benv,D0,D1),
get enwvs_sub3{Benv, lenvs, Eavs,DL,D) .

%%% local predicates

:— mode make just svbl{+,+.+,.+,4+,+,-3.

make just subl({Tyee,Consedq,Antecs,Jus,Count,D0,D)
= true,!,
set_slot({Jus,index,Count,D0, D1y,
set_slot({Jus,type,Type,DL,D2),
set_slot{Jus,consequence,Conseq,D2,D3),
set_slot{Jus,antecedents, Antecs D3, [4),
add_slot(Conseq,c_justs,Jus,Dd4,D5),
add_slot(justification,justifications,Jus,D5,D).

= meode make just_subd(+,4+,+,+,73.
make just subl({Antecs,Conseq,Jus,b0,D)
= true,!,
make just_subd(Antecs,Jus,D0,Dl),
make_just sub3({Conseq,Jus,Dl,D).

:= mode make just sub3(+,.+,+,-).
make just_sub3((],_,D0,D)

= true,!, DO=D,
make just sub3{ [Antec|Antecs],Jus,D0,D)
= true, !,

classﬁphject{nnde,antec,nesult},
make just sub4 (Result,Antec,Antecs,Jus,.D0,D).

= mode make just sub4i+,+,4,+,+,-).
make just subd(vyes,Antec, Antecs,Jus,D0,D)
= trua, !,
add_slot(Antec,a_justs,Jus,DO,DLY,
make just subi(Antecs,Jus,D1,D).
make just sub4(no, ,Antecs,Jus,D0,D)
= true,!,
make just sub3(Antecs,Jus,D0,D).

i= mode make just subS(+,+,+,-).

make just sub5(Conse,Jus,DO0,D}
= true, !,
get_slot(node,contra node,Contra node,D0),
make just subf(Conse,Contra node,Jus,DO,D).

:— mode make just_sub&({+,+,+,+,-).

make just subé|Conse,Contra node,Jus,DO0,D)
:— Conse=Contra_ncde, |,
nogood_updating({Jus,D0,D).

make just subé(Coose,Contra_node,_ ,D0,D)
;= Conse\==Contra_ncde, !,
node_updating(Conse,_,DO0,D).

:= mode get_envs_subl{+,=,=,+).
get_envs_subl([],Iasss,leavs,_)
= true,!, Tasss=[],Ienvs=[].
get_envs_subl({ [Anotec|Antecs],Iasss,Ienvs,D)
= true,!,
class_cbject{ass, Antec, Result),
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get_envs_sub2(Result,Antec,Antecs,lasss,Ienvs,D).

= mode get_envs subl{+,.+,+,-,—,+).
get_envs_subl(yes,Antec,Antecs,Iasss,Ienvs,D)
= true, !,
Iasss={Antec|Iasssl],
get_envs subl(Antecs,lasssl, Ienvs,D).
get_envs_subl(no,Antec,Antecs,Iasss,Ienvs,D)
= true, !,
get_slot{Antec,label ,Label,D),
Ienvs=[Labeal |1envgl] .
get_envs_subl{Antecs,lasss,Isavsl,D).

= mode get_envs_sub3{+,+,—,+,-).
get_envs_subj(Benv,_ ,Envs,D0,D)

:— Benv=[],!,Enve=[],0=D0.
get_envs_subl(Benv,Ienvs,Envs,D0,D)

:= Benvi==[],1,

get_new_envs{Benv,Ienvs, Envs,DO,D).

$%% (4) assump.prl

:— mode make assumption(+,-,+,-).

make assumption(Mode,Ass,D0,D)
= true, !,
incf{assumgticn,counter,DO,D1),
get_slot({assumpticn, counter,Count,Dl},
gensym(ass,Count, ASs),
new{iAss,D1,D2y,
set_slot(Ass,index,Count,D2,D33,
set_ slot(Ass,node, Node,D3,Dd),
set_slot(Ass,environments,[],D4,D5),
add_slot(Node,assumption,Ass,D5,D6),
add_slot(assumption,assumptions,Ass,D6,D).

= mode get _envs_ from asss(+,+,—,.+,—}.
get_env_from asss((],Benv,Nenv,D0,D)
= true, ! Nenv=Benv,D0=D.
get_env_from_asss{ [Ass|Asss],Env,Nenv,D0,D)
= true,f,
push_env({Ass,Env,Tenv,D0,D1),
get_env_subl(Tenv,Asss,Nenv,DL,D).

%3% local predicates

i~ mode get_env_subl(+,+,—,+,=},
get_env subl(Tenv, ,Neav,D0,D)

:— Tenv=[],!,Nenv={(] ,D0=D.
get_env_subl (Tenv,Asss,Neav,D0,D)

:= Tenvh\==[],!,

get_eav_from asss({Asss,Tenv,Nenv,D0,D).

%% (5) enviro.prl
:— mode make enviromment(+,-,4,=).

make epvironment({Asss,Bav,D0,D)
= Erue, !,
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incf({envirooment, counter,D0,Dl},
get_slot({enviranment, counter, Count,DLY,
caensymieayv, Count , Eav) ,

anew{Env,D1,D2},

length{aAsss, Size),
make_env_subl(Asss,Env,Count,Size,D2,D3),
make_env subl (Asss,Eav,D3, D43,
push_eav_table{Env,D4,D).

i~ mode env_subsumed pi+,+,=,4),
env_subsumed p{El,E2,Result,D)
— true, !,
get slot(El,ass size,Nl,D),
get slot(E2,ass =size,N2,D,
env_subsumed_p subl({Nl,N2,El,E2,Result,D).

:= mode subsumed check(+,+,—,+3.
subsumed_check([],_,Result, )

:— true, !, Result=no.
subsumed_check( [E|Eavs] ,Penv,Result,D)

= Ltrue,!,;

env_subsumed_p({Penv,E,Res, D),

suhsumed_check_;ubltnes,Envs,Penu,Result,D}.

i— mode get_pew envs(+,+,—,+,~).
get_new_envs({Base env, Input_envs,Envs,D0,D)

i— true, !,

get_new_envs_subl(Base_env,Input_eavs, [],Eavs,D0,D).

= mode union_envs(+,+,-,+,-),
union_envs{El,E2,Env,D0,D)
= btrue, !,
get_slot(El,ass_size,N1,D0Y,
get_slot(EZ,ass_size,NZ,D0Y,
union envs subl(N1,N2,E1,E2,Env,D0,D).

r— mode push_envi+,+,-,+,=),
push_env{Ass,Eov,Neav,D0,D)
= tre,!,
get_slot(Env,assumptions,Asss, D0y,
ordered_insert(Ass,Asss,Nasss,D0),
lockup_env{Masss,Oenv,D0),
push_ﬁnv_subl{ﬂenv,Nasss,Nenv,Dﬂ,Dj.

:— made push_env table(+,+,-).

push_env_table(Env,D0,D)
= true, !, -
get_slot(Env,ass_size,Index,D0),
get_slot({envircnment, indices,Indices,D0),
add_yitn_index[envirnnment,env_rable,lndex,snv,Dﬂ,nl},
ascending ordered pushnew(Index,Indices,Nindices),
set_slot(enviromment,indices,Nindices,D1,D).

i— mode lookup envi+,—,+).

lockup_env(Asss,Env,D)
= true,!,
length(Asss, Index),
get_with_indev(envirooment,env_table, Index,Eotry,D),
lockup_env subl (Entry,Asss,Env,D).

%% check contradicticn
== mode env contradictory pi+,—,+,-).
env_contradictory p(Env,Result,D0,D)
= true, !,
get_sleot{Env,contradictory,Contra, D),
env_contradictory p subl (Contra,Env,Result,D0,D).
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;= mode remove env_from labels(+,+,-).
remove env_from labels(Env,DO0,D)
(= true, !,
get_slot(Env,nodes, Nodes, DOy,
ramcve_env_subl (Modes, Env,D0,D).

3%% local predicates

i— mode make ecw subl(+,+,+,4,+,-).
make_env_subl{Asss,Env,Count,Size,D0,D)
= true, !,
set_slot({Enwv,index,Count,D0,D1Y,
gat_sleot{Env,ass size,Size,D1,D2Y,
set_slot(Env,assumptions,Asss,DZ,03),
set_slot(Env,nedes, [],D3,D47,
set_slet(Env,contradictory, [1,04,D53,
add_slot(envircoment,environments, Eov,D5,DY.

= mode make _env _sub2{+ & 4+ ,-),
make env_subl([],_,D0,D)

i +-|.1Elf 1 @ m-i?.-
make env subl{[Ass Asss],Env,D0,D)
:= true, !,

add_slot(Ass,environments,Eav,D0,DL),
make_env_subl(Asss,Env,D1,D).

:— mode env_subsumed p_subl (4, 4%, 4+, 4+,=,+},

env_subsumed p_subl(NL,N2,_,_ ,Result,_)
= N1 € N2 ,!, Result=no.

env_subsumed_p subl(Nl,N2,EL1,E2,Result, D)
= ML = M2 L1,
get_slot(El,assumptions,Al,Dy,
get_slot(E2,assumptions,aZ,D),
env_subsumed o subl(al,a2,Result,D).

:= mode env_subsumed p_sub2{+,+,—,%).

env_subsumed_p sub2(_,[],Result,_)
:= true, !, Result=ves,

env_subsumed_p subd([],_,Result, }
= true, !, Result=no.

env_subsumed p_sub2([Carl|cdrl], [Car2|cdr2],Result,D)
i~ krue, !,
get_slot(Carl,index,N].D),
get_slot(Car?,index,N2,D7,
env_subsumed p sub3(NL,N2,Car2,Ccdrl,Cdr2,Result,D).

= made env_subsumed_p_sub3{+,+, 4,4+, 4+,=,+) .
env_subsumed p_sub3(NL,N2,_,_,_,Result, )

= N1l > N2 ,!, BResult=no.
env_subsumed p sub3(N1,N2,Car2,Al,A2,Result, D)

i H]_ { NE ;Iu_'

env_subsumed_p sub2(Al, [Car2|A2],Result,D).
env_subsumed p sub3(NL N2, _, Al ,A2,Result,D)

= NL = N2 !,

eov_subsumed_p_subl (AL, A2 Result,D).

:— mode subsumed_check _subl{+,+,+,—=,+).
subsumed_check_subl{yes,_,_,Result, )

:= true,!, Result=yes.
subsumed_check_subl {no,Envs,Penv, Result,D)

:—~ true,!,

subsumed _chack (Envs,Penv,Result,D).

:—~ mode get_new_envs _subl{+,.+,+,-,+,-).



get_new_envs_subl (Benv, Ienvs,Envsl,Envs,D0,D)
1= Ieavs=[] ,!,
D=D0,
subsumed_check{fnvsl,Benv, Res, D0},
get_new_envs_subl(Res,Benv,Envsl,Envs,D0).

get_new_envs_subl(Benv, Ienvs,Envsl,Eavs,D0,D)
:— Ienvs=(Choices|lenvsl] ,!,
get_new_envs_sub3(Choices,Benv, Ienvsl,Envsl,Eovs,DO,DY.

:— mede get_new envs_subd(+,+,+,-,+).
get_new envs_subl{ves,_ ,Envsl, Envs,D)

:= true,!, Envs=Envsl.
cet pnew envs_subl{no,Benv,Envsl,Eovs,D)

= true, !,

Envs=[DenviEnvs2],

get_new envs subl(Envsl,Benv,Envs2, D).

:— mode get pnew envs subd(+,+,—,+).
get_new_envs_sub3({[],_,Eavs,_)
:= true,!', Eovs={].
get_new_envs_subi( [Env|Envs] ,Benv,Nenvs,D)
= true, !,
env_subsumed p({Env,Benv,Res.D),
get_new_envs_sub4 (Res,Env,Envs,Benv,Nenvs, D).

= mode get_new envs_subd(+,+,+ 4,5,
get_new envs_sud{yes,Env,Envs,Benv,Nenvs,D}
= true,!,
get_new_envs_sub3(Envs,Benv,Nenvs, D).
get_new_snvs_subd (no,Env,Envs,Benv, Neavs,D)
= tre,!,
penvs=[Env|Neavsl],
get_new_envs_sub3(Envs,Benv, Nenvsl,D).

1= mode get_pew_envs_subS(+,+,+,+,—,+,—).
get_new envs sub5([],_,_,Envsl,Eovs,D0,D)
:— true, !, Envs—Envsl,D0=D.
get_new_envs_sub5( [Env|Cenvs],Benv, Ienvs,Envsl,Envs,D0,D)
= true, !,
union_envs(Env,Benv,Nenv,D0,DLl),
get_new_envs_subf (Nenv,Cenwvs,Benv, Ienvs,Envs] Envs,D1,D).

— mode get_new_envs_subb(+,+,+,4, 4+, ,+,-7.
get_new_envs_subf (Nenv,Cenvs,Benv, lenvs,Envsl,Envs, D0, |5}
= Nenav={[] ,!, !
get_new_envs_sub3{Cenvs,Benv, Ienvs,Envsl,Envs,D0,D) .
get_new_envs_subs (Nenv,Cenvs,Benv, Ienvs ,Envsl,Envs, D0, D)
:= Nenwh\=—=[],!,
get new_envs_subl(Nenv,Ienvs,Eavsl,Envs2,D0,D1Y,
get_new_envs_sub3({Cenvs,Benv, Ienvs,Envs2,Envs,Dl,D}.

:— mode union_envs_subl(+,+,+,+,—,+,-}),
unison_envs_subl(N1,N2,E1,E2,Env,D0,D)
= WL =¢ N2 L0,
get_slot{El,assumptions,Asss,D0),
get_env_from asss(Asss,EZ,Env,D0,DY.
union_envs_subl(Nl,N2,E1,E2,Env,D0,D)
Ha NI. ) N-z ;!.i .
get slot(E2,assumptions,Asss,D0),
get_env_from_asss{Asss,EL,Eov,D0,D).

= mode push env subl{+,+,—,+,~}).
push_env_subl (Cenv,Nasss,Neav,D0,D)
1= Cenve=[] I,
make_savironment(Masss,Qenvl,D0,Dl),
env_contradictory p(Oenvl,Result,D1,D),



push_env_subZ{Result,Cenvl,Nenv).
push_env_subl {Qenv, ,Nenv,D0,D)

= Qenvis=~—=[],!,

env_contradictory p(Cenv,Result,D0, D),

push_env_subl{Result Cenv,Nenv).

:— mode push_env sub2(+,+,-).
push_env_subld(ves, .Nenv) :— true,!, MNenv=[].
push_env_subl (no,Cenv,Neov) — true, !, Nenv=Cenv.

= mode lockup env_subl(+,+,—,+),
lockup_env_sunhl{[],_.Eav, )
= true,!, Envs=[].
lockup_env_subl{ [E|Entzy],Asss,Env,I)
1= brue, !,
get_slot(E,assumptions, Asssl,D),
lockup_env_sub(Asss,Asssl,Z,Eotry,Env,D).

;= made lockup env_subl[+, & 4+ ,+,= 4],

lockup env_subl{Asss,psssl,E,_,Env,_)
:= Asss=3ss8sl !, Env=E,

lockup _env_subl(Asss, Asssl,_,Entry,Env,D)
r= Asssh\==Asssl,!,
lookup_env_subl{Eatry,RAsss,Eov,D).

:= mode env_contradictory o_subl{+,+,—,4,-).
env_contradictory p subl(Contra,E,Result,DO,D)
1= Cantra={] ,!,
get_slot(B,ass_size, Index, D07,
get_slot(nogecd,indices, Indices,DOy,
env_contradictory_p_sub2(Indices, Index,E,Result,D0,D).
env_contradictory_o_subl(Contra,_,Result,D0,D)
:— Contrahn==[],!,Result=yes, D=00,

:= mode env_centradictory p sub2 i+, +,+,-,+,-7.
env_contradictory o subl{[(],_,_,Res,D0,D)
1= true,!, Res=no, D0=D,
env_contradictory o sub2{[Tindex!_],Index, ,Res,D0,In
:= Tindex » Index,!,Res=no,D0=D.
env_contradictory o sub2( [Tindex|Indices], Index,E,Res,D0,D)
t= Tindew ={ Index ,!,
get_with_index(nogood, nogood_table,Tindex,Entry,DO),
env_contradictory p sub3(Entry,E,Re=sl,D0,D1Y,
enq_mant:adictcry_p;;ubd;Resl,Indices,Index,E,Res,Dl,Dj.

1= mode env_contradictory_p subd(+,+,=,+,-).
env_contradictory _p_sub3{[],_,Result,D0,D)
= true,!, Result=no,D0=D.
env_contradictory_p_sub3( [Cenv|Entry],Env,Result,D0,D)
= krue, !,
env_subsumed_o{Env,Cenv,Res, D0},
env_contradictory_p_sub5(Res,Ceav,Entry,Env,Result,D0,D).

:= mode env_contradictory p subS(+,+,+,.+,=,+,-).
env_contradictery b _sub5(yes,Cenv,_,E,Result,D0,D)
= true,f,
Resilt=yes,
set_slot(E,contradictory,Cenv,D0,D).
env_contradictory o sub5{no,_,Entry,E,Result,Dd,D)
= Erue, !,
env_contradictory p sub3{Entry,E,Result,D0,D}.

:= mode env_contradictory p subd(+,+,+,+,—,+,-).
env_contradictory p sub4(yes,_, ,_,Result,D0,D)

:= true,!, Result=yes DO=D.
env_contradictory p_sub4(no,Indices, Index,Eov,Result,D0,D)
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= krue, !,

env_contradictory_p subl{Indices, Index,Env,Result,D0,D).

= mode remove env_subl{+,+,+,—Y,
remove env subl{[],_,D0.In
= true, !, DO=D.
remove_eav_subl( [Nede |Nedes] ,Env,D0,D)
= trua,!,
get_slot{Node, label ,Label D0},
delete({Env,Label ,Nlabely,
set_slotNode,label Nlabel,DO,Dly,
remove_eny sub2({Nlabel,Node,Nodes,Eov,DL, D).

:= mode remove env _sublid, +, 4+, +,4,-)0
remove_env_subd (Nlabel, Node,Nodes , Env, D0,
:= Nlabel=[] ,1,
set_slot(¥Node,status,out,DO,D1y,
remove_anv_subl(Nedes, EZnv,DLl,D).
remove_env_subl{ilabkel, ,Nocdes,Env,D0,.In
:= Nlapelh==[],!,
remove_env_subl{dNcdes Env,D0,D).

5%% (6) nogood.prl

:— mode pogood_updating(+,+,-).
nogood_updating(Jus,D0,D)
= true, !,
get_envs from just({Jus,Eavs,D0,D1),
negood_updating(Eavs,Jus,D1,D).

+= mode push_nogood_table(+,+,-3.
push_nogood_table{Enwv,D0,D)
1= true, !,
get_slot(Eov,ass_size, Index,D0),
get_slot(nogood, indices,Indices,D0),
add_with index({nogood,nogood_table, Index,Eov,D0,DL),
ascending ordered_pushnew{Index,Indices,Nindices),
set_slot({nogood,indices,Nindices,DL,D).

%% local predicates

:— mode nogood updating(+,+,+,-).
nﬂqr::}d_l.l.;datiﬂg{ [] s D0,D)
i tI‘uE.-‘..« DG-D. -
nogood_updating( [Cenv|Envs),Jus,D0,D)
= true,!,
push_nogood_table(Cenv,D0,D1),
remove_env_from_labels(Cenv,Dl,D2},
get_slot(environment,indices,Eov_indices,D2),
set_slot{Cenv,contradictory,Jus,D2,D3),
get_slot{Cenv,ass_size,Index,D3},
get_slot(nogocd, indices,Nogood_indices,D3),

negood_updating subl(Mogood_indices,Index,Cenv,D3, D4},

nogood_updating subi{Env_indices, Index,Cenv,D4,D5),
nogood_updating(Envs,Jus,D5,D). -

:— mode nogood_updating_subl(+,+,+,+,-}.
nogood_updating subl(([],_, D0,
HEa tmer L DU-D‘-
nogood_updating subl( [Tindex|Indices], Index,Cenv,D0,D)
:= Tindex =< Index ,!',



nogood updating subl (Indices, Index,Cenv,DO,D).
nogeed_updating subl{ {Tindex|Indices),Index,Cenv,D0,D)
= Tindex > Index ,!,
get_with_index(negood,nogocd_table, Tindex,Entry, D0 Y,
nogood_updating sub2(Entry, Tindex,Ceav,D0,D1),
negeod_updating subl{Indices,Index,Cenv,Dl, Dy,

:— mede nogeod updating sub2(+,+,+,+,-).
nogood_updating subd([],_ ,_,D0,D)

= trua, !, Dd=D.
nogood_updating sub2( [0ld|Entry],Tindex,Cenv,DO,D)

:— trle, !,

env_subsumed p{0ld,Cenv,Bes,D0Y,

nogocd_updating sub4(Res,0ld,Entry, Tindex,Cenv,D0,D) .

= mode nogocd_updating subd (+,+,4,4,+,4,—) .
nrogocd_updating sub4(ves,0ld,Entry,Tindex,Cenv,D0,D)
== tZ"—'E P il
remove_with_index(negeed, nogood table, Tindewx,0ld,D0 DLy,
nogood_updating_subl (Entry, Tindex,Cenw,D1,D).
nogood _udpating sub4(no, ,Entry, Tindex,Cenv,D0,D)
= true,!,
nogocd_updating sub2(Entry,Tindex,Cenv,DO, Dy.

:— mode nogood_updating subld(+,+,+,+,-).,
nogocd_updating sub3([],_,_,D0,D)

== true,!, DO=D,
nogood_updating sub3( [Tindex|Indices],Index,Cenv,D0,D)

;= Tindex =¢ Index ,!,

nogood_updating sub3(Indices, Index,Cenv,DO,D).
nogoed_updating subld( [Tindex|Indices], Index,Cenv,DO,D)

:= Tindex } Index ,!,

get_with index(envircnment,env_table,Tindex,Entry,D0j,

nogood_updating subS{Entry,Cenv,D0,D),

negoed updating sub3(Indices, Index,Cenv,D0,D).

:— made pogood updating subS(+,+,+,=).
noegoed_updating subS([],_,D0,D)
1= true, !, DO=D,
ncgood_updating_subS( [0ld|Entry] ,Cenv,DO,D)
= sy
get_sleot|Cld,contradictory,Contra D00y,
negoed_updating sub6(Contra,Cld, Entry, Cenv, D0 D).

:= mcde nogood updating subf(+,+,+,+,+,-).
ncgood updating sub6({Contra,0ld,Entry,Cenv, DO, D)
:= Contra=[],*,
env_subsumed p(0ld,Cenv,Result,D0},
nogood_updating sub?(Result,0ld,Entry,Cenv,DO,D).
nogoed_updating_sub6(Contra,_,Entry,Cenv,D0,D)
Ha Cﬂﬂtra\—[] K .r-_.l
nogood updating subS({Entry,Cenwv,D0,D).

:= mode nogood_updating sub7(+,+,+,+,+,-).
nogood_updating sub7¥(ves,0ld,Entry,Cenv,D0,D)

= true,!

set_slaécélﬂ scontradictory,Cenv,DQ,DL) ,

remove env_from_labels(0ld,DL,D2),

nogood updating subS(Entry,Cenv,D2,D).
negood_updating sub7(no,_,Entry,Cenv,D0,D)

= true,!

ncfgc:oﬂ_hupéa ting_sub5(Bntry,Cenv,D0,D) .



%% (7)) dnterf.prl

= mode assume_pode(+,=,+,-).
assume_nede(Node,J_obj,D0,D)
= tre, !,
set_slot(Mode, assumption, [],DO,.D1y,
make_assumotion{Nede,dss cbi,Dl,D2),
make justification(assume pnode,Nede, [Ass obi],J obj,D2,D).

= mode premise_node(+,-,+,-).
premise node(Node,Count,DO,D)
= true,!,
get_slot{envircoment,empty env,Empty env,D0),
set_slot{Node,label, [Empty_env] ,D0,D1),
set slot(Node,status,in,DL,D2Y,
node updating(Node,Count ,D2,D%.

:— mode nogocd nodes(+,—,+,-).

nogood_nodes(Medes,J obi,D0,D)y
= true,!,
get_slot(node,contra node,Contra,D0Y,
make_justification(nogood,Contra,Nodes,J cbi,D0,D).

= made implied pi+,+,-,+).

implied p¢Ncde,Env,Result,D)
= true, !,
get_slot(Node, label,Label, D),
implied p subl(Label,Env,Result,D).

:— mode consistency p(+,+,=,+,=).

consistency p(Node,Env,Result,DO0,D)
— truae,!,
get_slot(dode,label Label D03,
consistency_p_subl{lakel,Env,Result,D0,D).

i%% local predicates

:= mode implied_p subl(+,+,-,+).

implied p subl{[],_,Result,_)
:— true, !, Resulb=go.

implied p subl{[Envl|Label],Eav,Result,D)
i l'.IllE'.‘, i i
env_subsured p(Eov,Envl,Res,D),
implied_o_subl(Res,Label ,Env,Result,D).

i~ mode implied p_sub2(+,+,+,—,+).
implied_p_subl{vyes,_,_ ,Result, )

1= true, |, Result=vyes,
implied p_sub2{no,lLabel,Env,Result,D)

:— true,!, implied p subl{Label,Eav,Result,D).

:— mode consistency p(+,.+,-,+,-).
consistency p((],_,Result DO,D)
:= true, !, Result=no,D0=D.
consistency p([Envl|Label],Env,Result,D0,D)
= - i
union_envs{Eaovl,Env, Neov,D0O,DLY,
consistency p subl(Nenv,Label ,Env,Result,D1,D).

:=~ mode consistency p subl{+,+,4,=,+,-).

consistency_p_subl(Nenov,Label,Env,Result,D0,D)
= Nanv={],!,
consistency_p({label,Env,Result,D0,D).

consistency_p subl(Meav,Label,Env,Result,D0,D)



- \En‘-r\ rI & L Fl
Bnv_con tradictory o{Nenv,Res,DO,DLy,
consistency p subd(Res,Lakbel ,Bnv,Result,DL,D).

1= mode consistency_p sub2i+,+,+,-,+,-}.
consistency p subl({yes,lLabel, Env ?esult,DG )
r= trur:, .

consistency p(Label Env,Result,D0,Dy.
consistency_p subd(no,_, ,Result,D0,D)
+= true, !, Resulte=ves, D=0,

5%% (8) inmit.prl

init{=-).

lﬁ it nDdEi[_,DU].
init_justification(D0,Dl),
init_assumption{Dl,02),
init_envircoment{DZ,D3:,
init negeed(DRi, D).

5%% loecal predicates

%% initialize node class object

:— mode init _pode(+,-=).

init node(D0,D)
- e, !,
set_slot({node,nodes, [1,D0,D1),
set_slot({ncde,counter,0,D1,D2),
set_slot(node, node_queue, [],D2,D33,
make_node({contradicticn,Contra_noda,D3,D4),
set_slot{node,contra_ncde,.Contra node,D4,D).

%% initialize justification class cbject

:= mode init justifiecation(+,-).

init_justification(D0,D)
= e, !,
set_slot(justification,justifiecations, []1,D0,DL1),
set_slot({justification,counter,0,Dl,D).

1% initialirze assumption class object

:— mode init_assumpticn(+,-).

init_assumpticon(DO,D)
= TLruges, !,
set_slot({assumption,assumpticns, [1,D0,D1),
set_sleot(assumption,ccunter,(,Dl,D).

%% initiazlize environment class object

= mode init enviromment(+,-).

init environoment(DO,D)
= true,!
set_slct{ envimmnt,enﬂromnents 01,00,D1y,
set_slot(eaviromment,counter,0,D1,D2,
set_slot({enviromnment,env_table, [],D2,D33,
set_slot{enviromment,indices, [],D3,D4),
make_environment([],Empty_enav,D4,DS),
set_slot{envirooment,empty env,Empty_env,DS,D).

%% initialize nogood class abject
:— mode init nogood(+.-).
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init_nogood(D0,D)
= true,!,
set_slot{nogoed, indices, [],D0,D1},
set_slot(nogoed, nogood_table, [1,01,D).

2% (9) atms.prl

% top level
= publie atms/1.
atms{ [Msg|Msgs])
:— Msg=init,!,
init(my,
atms(M=gS,D) .
atms( [Msg|Msgs))
:— Megh==init,!,
atms(MsgS).
atms([])
iz tﬂlﬂ, ! (m‘:,

% command interpreter
:— mode atms{?,+).

% termination
atms(¢ 1.}
:— true, !, true,

% initialize ATMS
atms{ [init|Msgs],_)
= true,!,

inik(Dy,
atms{Msgs,D) .

% declare assumption—data

atms( [assume({Datum) |i‘.5g5] LD0Y
= true, !,
get node(Datum,Mode,D0,D1) ,
assume_pode(Node,_,D1,D),
atms(Msgs,D) .

% declare premise—data

atms( [premise(Datum) |Msgs],D0)
= true,!,
get_node(Datum,Node ,DO,D1),
premise _node(Mode,_D1,D),
atms (Msgs5,D) .

% declare contradictory data
atms{ [nogood(Data) |[Msgs],D0)
= true,!l,
get_nodes{Data, Nedes,DO,DL),
nogood_nodes(Nodes,_,DL,D),
atms ({M=sgs,D).

% declare justification

atms( [justify(Conse,Antes) |Msgs],D0)
e t—IU-Ef -.f
get_nodes( [Conse | Antecs] , [C_Node|A_Nodes],DO0,D1),
make_justification(user,C_Node,d_Nodes, ,DL,Dj),
atms (Msgs,D).

4 get status of specified datum
atms( [status({Datum,Status)|Msgs], D)
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= brue,t,

atms( [datun_to ncde(Datum,Node)], D),
get_slot{Node, status,Status,D),

atms (MsgS,Dy.

% whether specified datum is implied

% under specified environment

atms( [implied_p{Datum,Env, Result) |I'!5g5] D
= true, !,
atms{ [datun_to_ncde (Datum,¥Node'y] I,
implied p(Node,Env,Result,Dy,
atms(Msg5,.D) .

%t whether specified datum is contradictory

% to specified environment

atms( [consistency p(Datum,Env,Result) |Msgs],D0)
i t:.'_I.Er ! r
atms( [datum_to node{Datum,Node)],DOY,
consistency_p(Node,Env,Result,DO,D),
atms(Msgs,D) .

% get justification of specified datum
atms( [get_justifications(Datum,Justs) [Msgs],D)
— true, !,
atms{ [datum_to_ncde(Datum,Node)] D},
get slot(Node,c_justs,Justs,D),
atms (Msgs, D) .

% get assumption of specified datum
atms( [get_assumption(Datum, Ass) |Msgs],D)
= true, !,
atms{ [datum to node(Datum,Node)],D},
get slot(Node,assumption,Asss,D),
get_assumption({Asss,Ass),
atms(Msgs, D).

% get node corresponding specified datum

atms( [datum_to_node(Datum,Node) |Msgs],D)
Hi tme; 1 ¥
get_slot|node,nodes,Nodes,D),
datum_to_node(Nedes,Datum,Node,D),
atms (Msgs,D) .

atms( [get_solution(Strategy,Alt Sets,Sol)|MsgS],D0)
= true, !,
solution subl(alt Sets, Alt_Nodes,DO,D1),
solver{Strategy,Alt Nodes,Sol,DL,D),
atms(Msgs, D).

atms( [print{What) |MsgS] ,D)
= true, !,
print(what,D},
atms (Msgs, Dy .

%% local predicates

= mode get_nodes(+,—,+,-),
get_nodes( [] ,Modes,D0,D)
= true, !, Nodes=[],D=D0.
get_nodes( [Datum|Data] ,Nodes,D0,D)
= true, 1,
Nodes=[Node | Nodes1],
get_node(Datum, Node , D0,D1),
get_nodes(Data, Nodesl,D1,In,
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:= mode get_node(+,-,+,7).

get_node{Datum, Nede, DO, D)
= ftrue,!,
atms( [datum_to_ncde(Datum,Nodel)],D0),
get_node(Datum,Nodel, Nede, DO, D) .

= mode get_node(+,+,-,+,-).
get_| n:}de{natm,ﬁadel I\cde 00,0
:— Nodel=new, !,
make node(Datum,¥ode,D0,D).
get_node(_,Nodel,Node,DO,D)
:= Nodel\=—=new, !,
Node=Nadel , D=D00.

.= mede datum to node(+,+,=,+).
datum_to_node( [],_.Node, )
= true,!, Node=new.
datum_to_ncde( [Nodel INedes] ,Datum, Nede, D)
;= true, !,
get slot({Nodel,datum,Datuml,D},
datum to node{Datum,Datuml,Node, Nodel,Nodes, D).

:= mede datum to node(+,+,—,+,+,%).
datum_to node(Datum,Datuml,Ncde,Nodel, ,_)
:— Datum=Cat , 1, Node=Nodel.
datum_+to node(Datum, Datuml ,Node, _,Nodes,D)
:= Datums~Datuml, !,
datum to node(Nedes,Datum,Node, D).

:— mode get_assumption(+,-).
get_assumption( [],Ass) :— txue,!, RAss=[].
get_assumption( [Ass obj],Ass) :— true,!, Ass=Ass obj.

+— mode solution_subl(+,—,+,-).
solution_subl([],N_Sets,D0,D)
Ha mar!r N Sets-[l-f]:_m
sclution subl([Set|Sets],N_Sets,D0,D)
= true, !,
get nodes(Set N Set,D0,D1),
N_Sets=({N_Set|N Setsl],
solution subl(Sets,N_Setsl,DL,D).

%3%% (10) priot.prl

:— mode printf{+).
printf( [Msqg|Msgs])
1= true, !,
prolog(Msg),

printf (Msgsy.
printf([])
:= true,!,true.

:— mode print{+,+).
print(status{Node) D)
i— true, !,
get_slat(Node,status,Status, D),
get slot(Node,label ,Label, D},

printf{ [nl,write(’ "y,nl,
write(' NOLDE - STATUS ';u
write(' "y.0l, nl
write(' "y write(Node) write(' '}..wr:r.l:etstatus},

write(' under '),write(Label), nl,nl]).
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print({statuses,D}
:— true, !,
get_slot({node,nodes,Nodes, D),
statuses(Modes, D).
print{node({dode),D)
= true,!,
get_slot(Node,index, Index, D},
get slot(Nede,datum,Datum,D},
get slot(¥Node,status,.Status, D),
get_slot(Mode, label ,Label I},
get_slot(MNode,c_justs,C_justs.D),
get slot(MNede,a_justs, A justs, D),
get_slot(dNode,assumption,Asss, D),

printf( [ol,write(’ "y.nl,
writef' NODE 'y,nl,
writef® “y.0l,
write(' nods : "), write(Node), ol,
write{' index : "y ,write(Indexy, nl,
writaf! datum : '), write(Datum), nl,
write(' status : Yy, write(status)y, al,
write(! lakel : '), write(Label), nl,
write(' o_justs : '}, write(C justs), nl,
write(' a_justs ¢ v, write(d justs), nl,
write(' assumption : '),write(hsss), nl,nl]).
print{ncdes,D)
= tme, !,
get_slot{node,ncdes, Nodes, D) ,
nodes{Nedes D).
print({just{J) D)
= true, !,
get_slot{J,index, Index,D),
get_slot(J,type,Type,D),

get slot(J,antecedents, Antec,D),
get slot(J,conseguence,Conse,D),

printi{[nl, write(' '),nl,
write(' JUSTIFICATION 'y,nl,
write(' *y,nl,
write(' justification : '),write(J), nl,
writef' index : "} ,write{Index), nl,
write(' type : '),write(Type), nl,
write(' aptecedents : '),write(Antec), nl,
write(' conseguance : "3}, write{Conse),al.nl]).
print{justs,D)
i 'LI'.'HE; ! ¥

get slot({justificatiocn, justifications, Justs,D},
justifications({Justs,D).

print{ass(iss),D)
:= btrue, !,
get_slot(Ass,index, Index,D),
get_slot(Ass,node,Node, D),
get_slot(Ass,environments,Envs,D),

printf({ [nl,write(" 'y,nl,
write(' ASSUMPTION 'y,nl,
writeg' "y,ol,
write(' assumption @ '),write(ass), nl,
write(' index : "3},write(Indexy, nl,
write(' node : '), write(bode), nl,
wrike(! environments : '}),write(Envs),nl,nl]).
print{asss,D}
i— true, !,
get_slot(assumption,assumptions,Asss,D).
assumptions(Asss,D).
priot{eav(Env),D)
= true,!,

get_slob({Env, index, Index,D),



get_slot(Env,ass size,S5ize,D),
get_slot(Env,assumptions,asss, D),
get_slot(Env,nodes,Nodes,D),
get_slot(Env,contradictory,Contra,D),

printf{ [nl,write;’ "y, ml,
write(!' ENVIROMNMENT "y, nl,
write(' "y, mnl,
writa(! environment : "y,write{Eav), nl,
write(' indes : ') ,write(Index), nl,
write(' ass size : "), write(size), al,
write(' assumptions : 'y ,write(hsss), nl,
wrike(! nodes : ) write|Nodes), nl,
write{"' contradictory : ') ,write(Contra),nl,nll).

print{envs,D)

= btrue, !,

get_slotlenvironment, envircoments,Envs, D),

enviromments{Envs, D).

print{node justs{Nods),D)

= true, !,

aget_slot(dode,datum,Datum, D},

get_slot{vede,c_justs,Justs,D).,

printf([nl, writs(' S 'y,ml,
write(’ WNODE = JUSTIFICATION ‘y.nl,
write(’ '3,0l]y,

justifications{Justs, D).

print{env_with_index(Index),D)

= true, !,

get_with_index(envircoment,enov_table,Index,Envs,D),

envirorments(Envs, D).

print(env _datum(Eav),D)

1= true,!,

get_slot{Env,contradictory,Contra,D),

get_slot{Env,assumptions,Asss,D),

printf{ [pl,wzite(’ 'y, nl,
write(' ASSIMPTION-DATUM in ENV 'y, nl,
write(' 'y, nl,
write(' eavironment : '),write(Env), nl,
write(' coptradictory : '),write(Contra),nll),

env_datum({Asss,.D).

print{env_data,D)
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get_slot{envirooment,environments,Envs, D),

env_data(Envs,D).

print(tabkle,D}

:= true, !,

get_slot(envircoment,indices,Env_indices,D),

get_slot (nogood, indices, Nogood_indices, D),

printf( [nl,write(’ 'y,nl,
write(' ENVIRONMENT TABLE '),al,
write(' "y.mlly,

table subl({Env_indices . D},

priotf( [nl,write("' 'y,nl,
write(' NOGOOD TABLE *y,n0l,
write(' "),0ll),

tahle subl(Nogood_indices, D).

print(context(Node) )
= true, |,

context _subl(Node,l.D),
priontf( [oll}.

%% local predicates

= mode statuses(+,+).

statuses([],_)
i— true, !, krie.



5tat:5E5{[cheFNDdes],D}
= true, !,
print{status(Node), Dy,
statusesvodes, D).

:— mode nodes(+, 4+,
nodes([],_)
= true, ! brue.
nades | [Mode [N:Jdes] sy
= true, !,
priot{node!Node), Dy,
nodes(Nedes D).

= mode justifications(+,+).
Justifications([], )
= true, ! true.
justifications( [Jus|Justs],D)
= ke, !,
print{just({Jus),.D},
justificaticns({Justs,D).

:— mede assumptions(+,+).
assumoticns([], Y
= e, ! Erue.
assumptions( [Ass|Asss],D)
= true, t,
print{ass{ass),D),
assumptions{Asss,D)).

i= mode envircnments(+,+).
envirooment=([], )
i~ true, !,true.
envirnnmants([EnV|Env5].Dj
= tre,!,
print{envi{Env),D},
environments(Eavs,D),

= mede env_datum(+,+) .
env_datum( [], )
= Erus, ! Erue.
env_datum( (3ss!|Asss],D)
= obrue, !,
get_slot(iAss (node, Node Dy,
get_slot(Ncde,datum,Datum,D),
printf{ [write(' datum
env_datum(Asss,D) .

:— mode env_data(+,+),
env_data{[], )
= btrue, !, true.
env_data( [Eav|Envs],I)
= true,!,
print{env_datum(Eavy,D),
env_data(Envs,D}.

:= mode table_subl{+,+).
table_subl{[],_)

i ﬂ-l-lEr LyErue,
table_subl({Index|Indices],D)

i 1"_1":.1-!; ! #

printf{ [write(" env index

"),write(Datum),nl]y,

").write(Index),nl]),

get_with index{envirecnment,env_table, Index,Envs,D),

printf([tab(S),write(Envs),nl]],

table_subl{Indices,Dj.

i~ mode table subl(+, +),
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table sub2([]._)
= true,! . truea.

table subZ{ [Index Indices],D)
:— true, !,
printf{ [write{' nogood index : ') ,write(Index),nl]),
get with index!{nogeoed,nogoed_table, Index,Nogoods, D),
printf([tab{3),writa{Negoods),nl]),
tahle subZ{Indices, D).

:— mode contaxt subli+, &, +).
context subl{Node, N.D)
= true,!,
class oblect(ass,Node,Result},
contet subl(Result,Node,N, D).

:= mode conbtext subl{+, +, 4,4,
context subl(yes,MNode, N, )

:— true, !,

saet_cursor{l),

printf( (write(' ASSUMPTION : "), wWrite(Node)]).
context sub{no,Node,N,I)

= true, !,

get_slob(Node,label,Label, D},
get_slot{envircoment,empty env Empty env,D),
context_subd(Label ,Empty env,Node,N,D).

= mode context subd(+,+,+,+,+).
context_sub3({],_,Node,N,_)

Ha tl‘ue_- 1 ¥

set_cursor|N),

printf([write({' NIL : "y ,write(Nede) ).
context sub3{lLabel ,Empty env,Node, N,D)

:= Label={Empty env],!,

sel_cursor(N),

printf( [write(' PREMISE : '), write(Node}]).
contaxt subki{Labkel  Empty env,Node, N,D)

:— Labelh==[Empty_env],!,

get_slot(Nede,c_justs,Justs, D),

set_cursor(iN),

printf{ [write(Node) write(' : 'J1),

contexkt_subd (Justs, N D).

:— mode coptesct subd(+,+,+).
context sub4( (], _,_)
= true, | true.
context_subd( (Jus|Justs],N,D)
= true, !,
get_slot{Jus,antecedents,Antecs,D},
set _cursor(N),
printf( [write(' JUSTIFICATION ;: '),write(Jus)]),
add({N,1,N1),
context sub5{Antecs,N1,D),
context subd{Tusts,N,D).

:— made context _subS{+,+.+).

context sub5{[],_,_)
— true, !, true.

contewt subS( [Antec|Antecs] ,N,D)
= true,!,
context subl (Antec,N, D),
eonbect _subS{Antees,N,D).

= mode set_cursor(+).

set_cursor{N)
c= true, !,
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add(M, 5,81y,
printf{[nl,.tab(N1)]1).

%% (1l) solver.prl

= mede solver(+,+,—,+,7).
solver{breadth,Alt Sets, S0l ,00,D)

= true,!,

breadth _search{alt Sets,Sol,D0,D}.
solver{depth, Alt_Sets,Sel,D0,D)

= true, !,

depth searcn{alt Sets,Scl.D0, D).

%% local predicates

%% depth search
;= mode depth_search(+,—,+,-).
depth_search{alt Sets,Scl,D0,In
= true=, !,
depth search_subl({Alt Sets,Choices, D03,
depth search sub3{Choices,[],521,00,D).

r= mode depth_search subl(+,—,+).
depih_search _subl([],Choices,_)

i— true, !, Choicas=[].
depth_aearch_;uhl{[Alt_setlﬁlt_Sets],Chmice5,D}
— true, b,

depth search sub2{Alt Set,T labels,D),
mapean (T labels,Labels)y,
Choices=[Labels |Choicesl)
depth_searchmsuhl{hlt_Sets Choleesl,D).

= mode desth search sub2i+,—,+).

depth search subl( [],Labels, )
:= trua,!, Labels=[].

depth search subi([Alt|Alt_Set], Labels,I)
Han trl.LE,- { ¥
get_slot(alt,label ,Label,D,
Labels=[Label |Labelsl],
depth search subd(Alt Set,Labelsl,D).

:= mode depth_search_sub3({+,+,=,+,=).
deprh search su.':rE{ [1,01lds,5021, L‘-CI' D:l
- true,!, Sol=01ds,D=D0.
depth_search_aubl{[[]l ] 0lds,sol,D0,D)
:= true,!, Sol=01d45,0=D0.
depth_search 5ub3{[[ChGlEE!ChﬂlCESl[CdIT 01ds5,501,00,)
= true, !,
depth_search_sub4d (Choice,Cdr,01ds, News ,D0,D1Yy,
depth_search_sub3{ [Choices|Cdr],News,Sol,DL,D).

=~ mode depth_search subd(+,+,+,—,+,—}).
depth_search_sub4(Sol, (], GldS,News Jali ] o}

= trua, i, NM-[S&llOldS] =D .
depth_&earch_suh&{Snl [Carlcd:],Oldb,HeHE,DG,D}

i— true, !,

get_slot({Sol,contradictory,Conkra,DO),

depth_search_subS(Contra,Sol,Car,Cdr,01ds,NewS,D0,D) .

:= mode depth_search_subi{+,.+,+,+,+,7,%+,-}.
depth_search_sub5(Centra,Sol,Car,Cdr,01ds, News,D0,D)
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:= Contra=[],!,

depth search sub&{sSol,Car,Cdr,0lds, News,DO,D).
depth search_sub>(Cootra, ,_, ,0Lld5,News,D0,D)

= Contrav==[],!,NewS=01ds,D=D0.

:— mode depth search subkb(+,+,+,+,—,+,-).

depth_search sub&(_,[],_,01ds,News D0, D)
= true, :,NE-"HS"Q*dS D=00.

depth search sub&(Scl, [Chﬂlce|cholcesl Cdr ,0lds, News , D0, D)
= true,!
uﬂinn_envs{ Sol,Choice , Neaw,DO,DLY,
depth_search_sub7(Nenv,Sol,Choices,Cdr,01ds,NewsS, DL, D) .

:= mode depth_search sub¥(+,+,+,+,+,—,+,-}.

de pth_search_s:_:b? {Nenv, S50l ,Choices,Cdr,0lds , News , DO, D)
= Nenv=[],!,
depth_search subf(Sol,Cholces,Cdr,01dS, News, DO, D).

dep*h search sub’(Nenv,Scl,Choices,Cdr,0lds, News,D0,D)
ol :‘JE'-'D-'I\,_"'[] P
set_slot(Neav,contradictory, [1,00,D1),
depth_search_subd (Nenwv,Cdr,014S, NewS1,DL,D2),
depth_search_subf (5ol ,Cholices,Cdr, NewS1l , News 02, D) .

%% breadth search
:= mode breadth_search(+,=,+,=).
breadth_search{alt_Sets,s5el, D0,D)
= true, !,
gat_slot{enviromment,ampty_env,Empty env,DD),
breadth_search subl{Alt_Sets,[[Empty_env]],50L,B0,D).

1= made breadih search subl(+,+,—,+,=-).

breadth search subl(([],Curs,sol,D0,D)
:= true, !, Sol=Curs,DO0=-D.

breadth_se&rnh_su.bl ([Alt_Set|Alt_Sets],Curs,Sol,Dd,D)
= true,!,
breadth search sub2({alt Set, [].Curs,News,D0,D1),
breadth_search_subl{Alt_. Sets,}lewS 5-::1 ol.Dy.

:— mode breadth search subl(+,+,+,—.+,7).
braadth_sea.rch_st-tbi ({],Mids bt Sel,Dd, D}
:= true, !, Sol=MidS,D=D0.
breadth_search_subZ( [Alt|Alt_Set],Mids,Curs,Sol,DU,D)
= Lrue,!,
breadth search sub3(Curs,Alt,Mids, News, D0,D1),
breadth_search_sub2{Alt_Set,News,Curs, Enl;Dl .

:= mode breadth_search_suthi(+,+,+,=,+,=}.
breadth_search sub3([],_,Mids,News,D0,D)
:— true, !, NewsS=MidsS,D=DJ.
breadth search sub3{ [0l4RE|Curs],Alt,Mids,News,DO,D)
= true, !,
gat_slot{Alt, label,label ,DOY,
get_slot{envircoment,empty env,Empty env,DO),
get_new_envs(Empty_env, [O1ldE,Label] ,NewE,D0,D1),
breadth search sub4 (NewE,Alt,CurS, MidS,NewS,D1,D).

:— mode breadth search_subd (+,+,%,+,—,+,—).
breadth search 5ubf1{1~1ewE,Mt ,Hids Mews,DO,D)
:= NewE={],!,
breadth search_sub3(Curs, Alt Mids,News,D0O,D).
breadth search subd(NewE,Alt,Curs, Mids,News,D0,D)
:= NewBh\==[],!, .
append( [NewE] ,MidS5, New_Mids),
breadth_search_subl(CurS,Alt,New Mids News,DO,Dj.



%5% {l2) atms.com

ghcecompile -
ghceompile( 'basic.ghe', 'basic.prl'y,
ttvnl, ghecomzile( 'enviro.ghe', 'envire.prl'y,
ttynl,ghecompile( ‘node ghe', ‘'node.prl'},
ttynl,ghccompile 'justif.ghce', 'justif.prl’),
tynl,ghecompile( 'assump.ghe', 'assump.prl'y,
ttynl,ghceompile! 'nogoed. ghe', 'nogood.prl'y,
ttynl,ghccompile( 'interf . ghe', 'interf.prl'),
ttvnl,ghecempile( 'atms.gha', ‘atms.prl®),
ttvnl,gheceempile! 'init . ghe', ‘'init.prl'y,
ttynl,gheccmpile( 'print.ghe’, 'print.prlty,
ttvnl,gheccompile( 'solver . ghe', *solver.prl'),

ttvml.

'$55menu’ -
ttynl,
display{' predicates to load :'),
t+ynl,ttynl,
display{' predicate function'),
ttvnl,
display(’ "y,
ttynl,
display{"' c load ATM-core'),
display(’ 2] load print-routipe'),
ttvnl,
display(® = lecad simple problem solver'),
ttynl.

'3831ocad " {Q) :—
ttml,
display(o),display(’' compiling'),
ttynl,
compile(0).

e -
'$%5load’' { 'basic.prl'y,
'$551locad' {'enviro.prl'y,
'555load’ { 'node.prl'y,
'5551cad’ { "justif.prl').,
'$5510ad' ("assump.prl'),
'$5510ad’ { 'nogood _prl'),
'55510ad' [ 'interf prl'y,
'$5351oad' ('atms.prl'),
'$551load' { 'init.prl).

D :— '$55load’('print.prl’y.

5 :— '$%3load'('solver.prl'y.

:— ttyml  ttml,
display(' »~* ATMS (An Assumption—based Truth Maintenance System) *=='},
teyml, ttynl,
(ghececampile, '$55menu’ ; '$55menu'),
ttyml.
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